Calvary Christian College



Carbrook Campus Year

2017



ALL ORDERS TO BE COMPLETED ONLINE at www.campion.com.au

USING "29SS" AS YOUR CODE

by Friday 25th November 2016

PREPACKAGED DELIVERY SERVICE

ALL ORDERS MUST BE PREPAID BY CREDIT CARD

Orders placed on time will incur a delivery fee of \$9.95 per delivery address and be delivered to your nominated address in the week ending 13 January 2017.

Prepaid Store Collection orders can be collected from Campion Education in West End during the week ending 13 January 2017, for that option please ensure you tick the Campion Store Collection box.

Orders will not be available for collection at school.



Campion Education (Aust) Pty Ltd A.B.N.: 33 074 318 602 314 Montague Road, WEST END QLD 4101 Phone: 07 3146 3999 - Fax: 07 3844 6260 www.campion.com.au - Email: qldsupport@campion.com.au

Important notes for ordering your educational resources

Completing your resource list

- The easiest way to get all your education resources is to submit your order online at www.campion.com.au by the due date. You can find the due date printed on the front cover of this list.
- If you miss placing your order by the due date, you may pay a higher delivery cost and may experience a longer waiting period to receive
 your full order.
- Place a tick in the box to select each item you need. We'll supply the items you've ticked.
- For easy delivery, we recommend using an office address. If you will be away from home during delivery periods, consider providing a delivery address you can use as an alternative, such as grandparents, neighbours etc.

Ordering access to digital products

- · Your resource list may contain digital items that can only be purchased by ordering them online at www.campion.com.au
- After you order them, access to these products will be provided via email for each product or will be provided at school.
- · Please order your digital products carefully as returns and refunds cannot be provided on these items.
- · Access to digital products cannot be purchased in our stores and must be ordered online.

Payment

- · Full payment is required at the time the order is placed.
- Payment can be made via Credit Card (Visa or Mastercard only)
- · Cheques or cash cannot be accepted.
 - *Prices are correct at the time of printing and are subject to change without notice.

Collecting your order

- · Collect your order on the date and at the location specified on the front cover of this resource list.
- · A friend or relative can collect on your behalf if you are unavailable.
- · Refunds may be provided on unwanted items on the day of collection, except for access to digital products.

Late Orders

- If you missed placing your order by the due date, you can still place your order online at www.campion.com.au and select the remaining delivery option.
- Delivery charges for late orders are \$5.50 per item, up to a maximum of \$19.95 per student order.
- · Any items that have not arrived from suppliers at the time of delivery will be posted to your delivery address.
- Please note that our store becomes very busy in the weeks before school returns. Stock availability cannot always be guaranteed in our store and for late orders.

Returns and refunds

- Exchanges and refunds will be made on any goods deemed faulty from the manufacturer.
- Refunds may be provided on textbooks that are in their original condition (including intact shrink-wrapping where applicable) up to the 17th of February or two weeks after the purchase date, whichever is later.
- · Access to digital products cannot be returned or refunded please order these items carefully.

Store hours

- If you choose to visit our store to purchase your resources, please note that it can become very busy and stock availability cannot always be guaranteed.
- Our store hours are:
 - Monday Friday 9:00am to 5:00pm. In January 2017 we are also open on Saturday 14th, 21st and 28th January from 9:00am to 1:00pm We are closed from 2:00pm on Friday 23rd of December 2016, reopening at 9am on Tuesday 3rd of January 2017, and also closed Thursday 26th January 2017 (Australia Day Public Holiday).

INSTHDSHMIL

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	RESOURCE LIST					
	AGRICULTURAL SCIENCE					
P55969	Notebook Olympic 50lf Shorthand Spiral	1		1	1.16	1.16
P55153	Binder Book A4 8mm 128 Page	2		1	1.40	1.40
DEE004	- OR -	•	_	4	4.00	4.00
P55991 P50372	Office Pad A4 Bank 100 Leaf Plain	3	ᆜ	1	1.88	1.88
F30372	Display Book A4 20 Pocket Cool Frost Green Note: Pair of overalls, gumboots or old shoes (optional)	4		1	1.56	1.56
	VISUAL ART					
P58197	Visual Art Diary A4 110gsm 60 Sheet/120 Page	5		1	4.36	4.36
	(new students only)					
P56201	Pencil (6B)	6		1	0.64	0.64
P56190	Pencil (4B)	7		1	0.44	0.44
P56182	Pencil (2B) Tradition	8		1	0.64	0.64
P55391	Marker Nikko Fine Point 0.2 Black FS21	9		2	3.12	6.24
	DIGITAL TECHNOLOGIES					
P60090	Display Book A4 20 Pocket Insert Cover Refillable Red	10		1	3.60	3.60
	DRAMA					
P50844	Memory Card SDHC 16GB Class 10 SD Card - NO RETURNS	11		1	15.16	15.16
	Set "Drama blacks"					
	Requirements details:					
	Long loose plain fitting black pants					
	Loose fitting black T-shirt with sleeves Note:					
	Midriffs must not be visible when arms are extended above					
	head					
	No low necklines					
	No slogans or print					
	ECONOMICS & BUSINESS					
P50114	Notebook A4 120 Page Q595/P595 Spiral	12		1	2.12	2.12
	ENGLISH					
P50114	Notebook A4 120 Page Q595/P595 Spiral	13		1	2.12	2.12
	GEOGRAPHY					
P55969	Notebook Olympic 50lf Shorthand Spiral	14		1	1.16	1.16
	GRAPHICS					
P56114	Pen Fineliner Black 0.5	15		2	4.40	8.80
P51071	Pencil (HB) Tradition Box of 12	16		1	6.80	6.80
	HISTORY					
P55969	Notebook Olympic 50lf Shorthand Spiral	17		1	1.16	1.16
	HOME ECONOMICS					
P58197	Visual Art Diary A4 110gsm 60 Sheet/120 Page	18		1	4.36	4.36
P51615	Exercise Book A4 PP Cover 8mm 64 page	19	_	1	1.12	1.12
	Note: A list of practical requirements will be given in class		_			

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	INDUSTRIAL TECHNOLOGY & DESIGN					
P50670	Display Book A4 20 Pocket Clear Cover Blue Refillable	20		2	1.80	3.60
	LEARNING ENRICHMENT					
P55152	Binder Book A4 8mm 96 Page	21		1	1.08	1.08
	MATHEMATICS					
P52830	Calculator Casio Scientific FX-82AU Plus II	22		1	26.36	26.36
P55153	Binder Book A4 8mm 128 Page	23		2	1.40	2.80
P56354	Protractor 10 cm 360 4" Full Circle	24		1	0.60	0.60
	MUSIC					
P55908	Music Book A4 96 Page 64pg Feint/32pg Staved (new students only)	25		1	1.80	1.80
	PRAISE					
P55152	Binder Book A4 8mm 96 Page	26		1	1.08	1.08
	SCIENCE					
P55153	Binder Book A4 8mm 128 Page	27		1	1.40	1.40
	SPANISH					
P50671	Display Book A4 20 Pocket Clear Cover Green Refillable	28		2	1.80	3.60
	GENERAL STATIONERY					
P56389	Loose Leaf Refills Reinforced A4 7mm Pkt 200	29		1	5.00	5.00
P55670	Graph Pad A4 2mm 25/40 Leaf 7 Hole Punched	30		1	1.56	1.56
P50130	Glue Stick UHU 40 gm	31		1	2.64	2.64
P56106	Pen Ballpoint Cap Type Black Med Staedt	32		2	0.60	1.20
P56107	Pen Ballpoint Cap Type Blue Med Staedtler	33		2	0.60	1.20
P56108	Pen Ballpoint Cap Type Red Med Staedt	34		2	0.60	1.20
P58537	Pencils-Coloured Faber Classic Colour Pkt 12's	35		1	4.76	4.76
P56182	Pencil (2B) Tradition	36		1	0.64	0.64
P56172	Pencil (HB)	37		2	0.64	1.28
P58510	Eraser Plastic Pencil Large With Sleeve	38		2	0.32	0.64
P56414	Ruler 300mm Plastic Clear	39		1	0.56	0.56
P56245	Sharpener Pencil Metal Single Hole (HQ)	40		1	0.68	0.68
P51086	Scissors 195mm Smartcut Comfort Grip	41		1	4.40	4.40
P56667	USB Pocket Flash Drive 8GB - NO RETURNS	42		1	6.80	6.80
P56562	Stapler - Stapling Machine #10 Plus Staples	43		1	2.80	2.80
P50389	Notebook A4 250 Page 5 Subject 5 Colour	44		1	7.16	7.16

Delivery, packaging & handling	\$9.95
ESTIMATED AMOUNT DUE (PRICES CORRECT AT 26/10/16)	